HIHE

DI3FEESHMA G ke AL AL AL 2R (FE15])

HE ihh TEALFEE 4 AL A
HmdAEy 2—7) — A () a—Uih 4 1,800.00
2|5 L% AL =251 5 (BR) 1 3.20
3| JiHeZ ALIE =55 7 5 (BR) Kg 840.00
4H0L (FE) Hiljigk Kg 98.00
5[LHT AL =55 5 (BR) Kg 320.00
6|t —~ AL =25 5 (BF) Kg 440.00
717-\ B (BR) 7ovaa KgAK P Kg 1,850.00
8| =—L XA AL =25 5 (BR) Kg 370.00
9 EIZIENTA LA ALIE =55 7 5 (BR) Kg 296.00

10| BRAFiF A~ () a—Uk Kg 650.00
11{&HUB (Bk) 7oz Kig/KE Kg 980.00
12lAavA B 5 T3 (BR) ZN 790.00
13|/ e o H A S £ dn (BF) A 28.00
4| —2 R () 7LV a3—hbiz/a~ Kg 900.00
15[1FHIAHE FLIR =55 7 28 (BF) Kg 620.00
16{ A& (FE) Hiljigk Kg 134.00
170125 FLIR =55 7 28 (BF) Kg 560.00
18|L L&Y (FE) Hiljigk Kg 1,800.00
19|H ¥ FLIE = 555 5 (BR) Kg 80.00
20| x (FE) Hiljigk Kg 78.00
21| I FLIR = 275 5 (BR) Kg 180.00
22|L A A AL =25 5 (BF) Kg 300.00
2305 FLIR = 7 5 (BK) Kg 275.00
24| KAR AL =25 5 (BF) Kg 80.00
25|97 T 4o (k) il Kg 1,330.00
26|Z1F9 AL =25 5 (BF) Kg 142.00
21| RA (k) Ak Kg 354.00
28| £ (k) Mk Kg 72.00
29[z Atz (FR) Hiljigk Kg 2,980.00
30| I AL =25 5 (BF) Kg 320.00
31 FLIR =56 5 () Kg 485.00
32[h~h AL =2 5 (BF) Kg 345.00
33[T=h~Fh FLIR = 561 5 () Kg 453.00
34/ AL =2 5 (BF) Kg 340.00
35| B FLIR =561 5 (%) Kg 800.00
36| AEHEE AL =25 5 (BF) Kg 816.00
37z DEE FLIR = 75 5 (BK) Kg 234.00
38| RISV, (BR) = A Kg 340.00
I9[AZ (BE) il Kg 398.00
40| LT ALY FLIR =55 3 () Kg 280.00
41| (FR) Hiljigk Kg 348.00
42157 AL = 2 5 (BF) Kg 1,647.00
43|37 FLIR = S 75 5 () Kg 169.00
44|\ ISA T TV ALIE =55 7 5 (BR) Kg 187.00
A51F AT — FLIR =55 R (BF) Kg 530.00
46 | BT () a—Uf Kg 880.00
471400 A () 7LV a3—hbl-/~ Kg 1,600.00
48|IEHE A () 7LV a3—hbizla~ Kg 595.00
4917 LA () 7LV a3—hbl-/~ Kg 1,290.00
50| — o B —h (BR) Kg 1,380.00
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A s EELEE 4 AL AR
51|ESAA () IR\ & K 220.00
52| F<AB () IR\ & 5 210.00
53| A (BR) 7> vaa KiGKPE Kg 1,950.00
54|V Tex E () IR & N 699.00
55[FF LR =55 3 () Kg 245.00
56|13 H 4> () =—U R A 430.00
57( T4 2D G Kg 580.00
58| IR A BLAS A 5 T3 (BR) N 790.00
S| EEMT — A DR (B)a—Uai Kg 530.00
60> X2 DI () a—UR %N 330.00
6117 —X H AR S E A () %N 300.00
62| HE 7L RAR ALIE =55 7 5 (BR) Kg 370.00
63| B A () 7LV a3—hbiz/a~ Kg 560.00
64|HHNEY AL ) — o B —h (BR) Kg 800.00
65|F YA AL =25 5 (BF) Kg 300.00
66| VA Z A KA (FR) Hiljigk Kg 298.00
67|F A () IR\ & Kg 1,550.00
68| A=A T — H AR S A& in (K 1% 450.00
69| F LR AT I WA R ER) A 45.00
70| Bff&ETeE 2O () IR\ & Kg 5,400.00
T E B H AR R (BR) 0w 450.00
2| FNAE B AL AT —F Y — SRpEE (BR) %N 850.00
73| BTG () a—Uk A 52.00
74| FLIR =56 & () Kg 360.00
75| R0 3 /N — () a—Ui S 600.00
6|47 FLIR =55 7 28 (BF) Kg 1,280.00
T\ x I —A (BR) & L b ZN 900.00
8L LTIV A (F) 7LV 23—k~ Kg 1,600.00
9| 7RE—~ LR =5 H 3 () Kg 540.00
80|t e & X I2FWD () = L& A 168.00
81|f7L—~ LR =55 3 () A 275.00
82|41V —7"iih (BF) = £ %N 860.00
83| AL IS 7 v Ar—% () a—Ui A 540.00
84| —~ FLIR =561 5 () Kg 540.00
85| /K3 AL =25 5 (BF) Kg 420.00
86|\ B (KR 7= K K Kg 1,100.00
87|HLA () IR \U& Kg 1,000.00
88| K1y 1 — A EIV b B2 —h (k) Kg 905.00
89|4FFH TV YTy R R A T EER | # 40.00
90| 7R AR FLIE =55 5 5 (BK) Kg 340.00
91| AR AR — 2T A A H AR B dh (BR) % 950.00
92|5R EA (BK) Hiljik Kg 148.00
93| FuVNzlT ALIE =55 7 5 (BK) Kg 580.00
94|y —71L 2% FLIE =55 5 5 (BK) Kg 370.00
95| — AV A ()7L 23—kl Kg 4,900.00
96| LB EHRLL A () 7LV a3—hbl-/~ Kg 790.00
97| LN T AT ¥ —h H AR £ (BR) % 480.00
98| i TR SR K BE 7 HARE &S (BR) 4 360.00
DAL T If-o SN T L — A ALY | B ARG (BR) % 450.00

100|=F—/LRF A7 )L— (FR) Hiljigk Kg 950.00
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A s EELEE 4 AL AR
101|FILREE& TF—RT7F A (U]N) AR SR 1] 118.00
102|435 R DFH (BR) & L& hh 4 855.00
1035 Er P — (B —F) () = L& o 325.00
104\ — AR Y7 ¥ 7 H () 7LV a3—hbiz/a~ Kg 900.00
105|IHH 774 () a—URk 03 760.00
106 E — R[EPEIv /A H AR S £ dn (BF) £ 685.00
107|BF 7V D H AR & (BR) N 990.00
108|Fedp A LA (BE) il Kg 378.00
1095 mL 7270 — o485 H A2 1 hn (BK) 0w 580.00
110 ea AT — [ o B —h () e 44.00
l111|[FrErer—F =Ry (BR) & L& ZN 700.00
1127V —F =Sy 7 A~R)—) Bk & L& 13 605.00
113|F /LR O L &y WA R ER) A 48.00
114\ 7 F 4744, U5 s = (BK) A 63.00
11576 T HAKE (k) ik 0w 1,340.00
NI VA=A (BR) & L& 43 765.00
L7 2 —ARN vk b BI—hER) % 82.00
1183 G 3Lkt () a—UR & 73.00
197 o= ny7IE SR () i 800.00
1207V —F = (fF2) (BR) & L& 43 605.00
121 |RA Ry R AT LR =45 3 () Kg 680.00
122|=2—v— G ALEE () =2—U R 1l 73.00
123| UKLy H A SRR & (1) %N 550.00
24|~ —TY H AR S E A& in () N 620.00
125| W AR5 2 A A5 () = L& 18 715.00
126 | EA T SR H AR S A& in (K N 720.00
12735 bbb RAT —X () 7LV a3—hbizla~ 54 70.00
128 A A NI OBRL YT (Bk) = £ N 700.00
129[{REALTFF L TAADFHE e psi g+ (BR) 4% 1,300.00
130|338 7 OF (Aha ) —) HARRE &S (R A 700.00
131 |[#E RS LLRL v () = L& ZN 700.00
132|192 FI KA FLIR =561 5 (%) Kg 350.00
133[#RTpDA () IR \UE Kg 5,500.00
134|$RTeoB () IR\ & Kg 5,500.00
135[#R¢e>C () IR)\U& Kg 5,500.00
136|$REr Ol HIHUEDB () IR\ & Kg 6,000.00
137 ARA T I LT — A (BF) & L& A 218.00
138 KNI 7V DFE (BF) = A 1% 830.00
139 4= 4k () a—Uf 4 340.00
140|F VR SSELUFASRAT TA/N—T WA B R i 100.00
141|FaaL —ky—x H AR B dh (BR) ZN 450.00
142|030V FLI% = S 75 5 () Kg 230.00
143[xA—21 (BR) Hlilik Kg 280.00
144 | L L ZLER 6 A0k} PR P g (BR) i 69.00
145 | D B F oV KIS EEFITR A (B)=—URd 54 180.00
146 A ()2 —Ua A 168.00
147z — 2\ 2254 2 o B —h (BR) Kg 1,580.00
148 AL E AR I TV I EERFEMA IR | H 40.00
149 AN AN KBETE H AR B dh (BR) % 390.00
150\ 2B — ()2 —Ua A 67.00
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A s EELEE 4 AL AR
151|ObE 7Y —I—KL v () = L& ZN 800.00
152 |5 i 13t PP (BR) 4 360.00
153[4EL x5 Kt () a—UR i 380.00
154 /METF UL AE () a—UR S 264.00
155 | /NS tEHE () a—URk 03 130.00
156|=>F g ALIE =55 7 5 (BR) Kg 340.00
157(7V—o 7 2359 = ALIE = 5 75 5 (BK) Kg 1,670.00
158[F~r2—1L—31F () a—UR 5, A 180.00
1590 Z oD & H AR & (BR) 0w 530.00
160|EATHATA AT — X (— ) B Lo S LI 260 e 40.00
161 |&E H AR S E A () Kg 92.00
162l —7> H AR SR £ dn (BF) Kg 710.00
163 [/ Vi S — H AR & (BR) A 20.00
164|720 EHH 33 () a—UR 5, S 19.00
165|728 LI — A— (k) T A kLR = 2T 1 105.00
166|725 HEF A A LA A—T (Bk) & oA kLR = AT 1l 105.00
167 | HIE) LA H AR E 0 () Kg 600.00
1682 H0> ARk B — () a—UR & 168.00
1692 O T LR DG DE: (BR) T4 kLR = ZE P A 105.00
170[eh b T=LDEVH A DT (Bk) e A kLR e FEPT & 105.00
171 b2 1T A (BR) T A kLR = 2T 1 105.00
1723223 () a—UR & 180.00
173| TNV F— R p— A — (BR) T A kLR = 2T 1 115.00
1740 O A U A3 (k) & oA kLR = AT & 105.00
L75| LB DN ETF (k) T A kLR = 2T 1 125.00
176|8EBEDLF 2 — (k) & oA kLR = AT & 125.00
177 XX (BR) B4 kLR = EPT A 125.00
178|4+eL A b B —F (BR) Kg 8,500.00
179 | A FLIE 5 Ak () a—UR b, %N 368.00
180| KT3I — () a—UR & 185.00
181 7= L > () a—Ui ZN 265.00
182 Sy V& T PEE D IZ A (BR) B A FLIR = 2T 1l 176.00




